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Mathematics  

Topic: Playing with Numbers  

Class : VIII th 

Name of Teacher :SanjeevTaneja/Sital Chand / Anish Kumar  

School:GSSS.PAU,Ludhiana/GHS GhassMandi Patiala / GSSS MehlanSangrur 

 

 

 

Objectives 

 
1 fJjft;akrfDs B{z nk;kB ns/ o"uepDkT[Adk j?. 

 

2 rfDsB{z gVkT[D bJhfJjsohek ;G s'AtXhnk j?.fJjftfdnkoEhnK dh e[;absk B{z tXkT{Adk j?  
 
3      y/v y/v ftXhftZurfDsft;/B{z nk;kB ns/ o'uepDkT[Adk j?.fJ; okjhAnzeKBkb y/v e/ rfDsftZupj[s 

nk;kBsohe/ BkbjZbeZY/ ik ;ed/ jB. 

 

Expected learning outcomes 

 

1. d' ns/ fszBnzeKdhnK ;zfynktK dh gSkD ns/ T[jBKdk T[bNeqw. 

2. sMiKAWvWAqyauhnWdyaultkRmdwAwpsivcsbMD[ 
3. 2,3,5,9,10dhGki :'rskiKu. 

4. ;zfynktKdkft;fsqs o{g. 

 
 

B.1 Usefulness in daily life 

 

1 o'ikBKfizdrhftZurfDs B{z nk;kBpDkT[Dk. 
2 josoQKdhnKrfDsefefonktK B{z e?be[b/No s'AfpBKnk;kBpDkT[Dk. 
3 rfDsft;a/ dkvoysweoBk. 
4 w[ekpbkgqhfynKtKbJhbkj/tzd. 

 
 

B.2 Simplifying the complex 

 
fit/A feftfdnkoEhnK B/ pj[s ;kohnK ;zfynKtK fit/A fe e[dosh ;zfynKtk,g{oB ;zfynktK,;zg{oB 
;zfynktK ns/ gfow/: ;zfynktKdknfXn?B j/mbhnKiwQksKftZuehsk j?.fJ; gkmftZuftfdnkoEhnK B{z j'o 
;zfynktKtko/ ft;skoftZuikD{ eotkfJnkikt/rk.fJ; BkbGki :'rskiKueoBftZuthwZddfwb/rh. 

 

B.3 Life skills 

 

*ftfdnkoEh y/v ftZXh ns/ fefonKftZXhokjhArfDsB{z f;ZyDr/.fJ; Bkb T[j gVkJh d/ 
BkbBkbfefonktKtheoBr/. 

Name of the school GSSS.PAU,Ludhiana/GHS GhassMandi Patiala / GSSS 

MehlanSangrur 

Name of the teacher SanjeevTaneja/Sital Chand / Anish Kumar  

 

Class VIII th 

Subject Mathematics 

Name of the Topic Playing with Numbers 

No. of periods required 

to teach this Topic   

 

5 



~ 2 ~ 

 

*ividAwrQIAWnMUgixqivcAMkWqoNbwhrsbdWrwhINbyiskAwpRySnisKwauxy[ 
 

* i[pkBhrDBkeoe/ ftfdnkoEho'iakBkihtBdhnKfefonktKj'oft;atk; Bkbeo ;eDr/. 

 
 

B.4 Vocabulary 

Reversing the digits :sMiKAwvWdwaultkRm 
Two digit number : do AMkWdIsMiKAw   
Divisibility  :Bwj:'rsk:'rsk:'rsk:'rsk 

 

Section C. Building Bridges 

Natural and whole numbers, Integers pRwikRiqksMiKAwvW, purnsMiKAwvW, sMpurnsMiKAwvW 
Addition and subtraction  joVAqyGtwau 
Division and multiplication of whole numbers pUrnsMiKAWvWdIguxwAqyBwg 
 

 

 

Section D. Period wise break up for each chapter 

 

Period  What to be covered 

1  Introduction of the chapter with one or two questions of addition or 

subtraction of natural Numbers , Whole Numbers for PK testing  

And some short cuts 

252 =  625    552 = 3025 , 12 x 14 = 168  

 Number  in general form  

Game with Number  

Reversing the digits – two digit number , Three Digit Numbers  

2 Letters for Digits with suitable Example  

3 nfGnk; 16.1 

4 10,5, 2,3,9 dh Gki:'rskiKu 

5 nfGnk; 16.2 

 

 

Section E. Micro planning of the periods or minute to minute breakup of periods 

E.1 Period 1 

 

5 min. PK Testing 

10 min. ;zfynK 52bU ns/ fJ; ~ fJ; soQKfbfynkik ;edk j?. 52 = 50 + 2 = 10 × 5 + 2 

fJ;/ soQK 37 ~ fbfynkik ;edk j?. 37 = 30 + 7  = 10 × 3 + 7 

 
d' nzeK a ns/ b s'IpDh ;zfynKab~ fJ; soQKfbfynkik ;edk j?. 
 

ab= 10 × a + b = 10a + b 

ns/ba~ fJ; soQKfbfynkik ;edk j?.ba= 10 × b + a = 10b + a 

 
fszBnzeK dh ;zfynK 351 ~ fJ; soQKfbfynkik ;edk j?.  
 
351 = 300 + 50 + 1 = 100 × 3 + 10 × 5 + 1 × 1 
 
ns/ 497 = 100 × 4 + 10 × 9 + 1 × 7 

 
nkws"o s/ fszBnzeK a, b ns/ cs'IpDh ;zfynKabc ~ fJ; soQKfbfynkik ;edk j?. 
 

abc= 100 × a + 10 × b + 1 × c 
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= 100a + 10b + c 

 
 
 
fJ;/ soQk , 
 

cab = 100c + 10a + b 

 

bca= 100b + 10c + a  

 
(i) Reversing the digits – two digit number 
 
d' nzeK dh ;zfynK 56 bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' nzeK dh 
;zfynK 65 gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~i'V' 
 
56 + 65  = 121  
 
fJjBKdkfJjBKdkfJjBKdkfJjBKdki'V 11i'V 11i'V 11i'V 11    s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?. 
 
Example 2 
 
d' nzeK dh ;zfynK49bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' nzeK dh 
;zfynK 94gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~i'V' 
 
49  +  94   =     143  
    
fJjBKdkfJjBKdkfJjBKdkfJjBKdki'V 11i'V 11i'V 11i'V 11    s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?. 
 
Example 3 
 
fJ;/ soQKd' nzeKdhfJej'o ;zfynK36bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' 
nzeK dh ;zfynK 63gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~i'V' 
 
36  +  63   =     99  
 
fJjBKdki'V 11 s/ Gki:'r j?. 
 

fJj 11 BkbGki:'r feT[I j?<fJj 11 BkbGki:'r feT[I j?<fJj 11 BkbGki:'r feT[I j?<fJj 11 BkbGki:'r feT[I j?<    
 

nkUn;hI ;zfynKabbJhJ/ fijVhfe d' nzeK dh ;zfynK 10 a+bdk ;zy/g o{g j?. fJ; d/ 
nzeK dh soshp T[bNkT[D s/ n;hI ;zfynKba= 10b + a. gqkgseod/ jK. fJjBKd'jK 
;zfynktK ~ i'VB s/  
 
(10a + b) + (10b + a) = 11a + 11b  = 11 (a + b). 
 
 

fJ; soQKi'V 11 dk r[Di j?.fJ; soQKi'V 11 dk r[Di j?.fJ; soQKi'V 11 dk r[Di j?.fJ; soQKi'V 11 dk r[Di j?.    
 

10 min. j[D 
 
d' nzeK dh ;zfynK56bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' nzeK dh 
;zfynK 65gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~xNkU. 
 
65 -  56 = 9 
 
fJjBKdkfJjBKdkfJjBKdkfJjBKdknzso 9nzso 9nzso 9nzso 9    s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?. 
 
Example 2 
 
d' nzeK dh ;zfynK49bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' nzeK dh 
;zfynK 94gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~xNkU 
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94  -   49  =    45  
 
fJjBKdkfJjBKdkfJjBKdkfJjBKdknzso 9nzso 9nzso 9nzso 9    s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?. 
 
 
 
Example 3 
 
fJ;/ soQKd' nzeKdhfJej'o ;zfynK36bU ns/ fJ; d/ nzeK dh soshp T[bNk e/ BthI d' 
nzeK dh ;zfynK 63gqkgs j[zdh j?. fJjBKd'tK ;zfynK ~xNkU 
 
63  - 36 =     27  
 
fJjBKdkfJjBKdkfJjBKdkfJjBKdknzsoth 9nzsoth 9nzsoth 9nzsoth 9    s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?.s/ Gki:'r j?. 
 

fJj 9 BkbGki:'r feT[I j?<fJj 9 BkbGki:'r feT[I j?<fJj 9 BkbGki:'r feT[I j?<fJj 9 BkbGki:'r feT[I j?<    
 

nkUn;hI ;zfynKabbJhJ/ fijVhfe d' nzeK dh ;zfynK 10 a+bdk ;zy/g o{g j?. fJ; d/ 
nzeK dh soshp T[bNkT[D s/ n;hI ;zfynKba= 10b + a. gqkgseod/ jK. fJjBKd'jK 
;zfynktK ~ xNkT[D s/  
 
(10a + b) - (10b + a) = 9a – 9 b  = 9 (a - b). 
 

fJ; soQKfJ; soQKfJ; soQKfJ; soQKnzso 9nzso 9nzso 9nzso 9dk r[Di j?.dk r[Di j?.dk r[Di j?.dk r[Di j?.    
 

d' nzeK dh ;zfynKab= 10a + b. 

ns/ fJ; dk T[bNeqwba= 10b + a bU ns/ 
tZvh ;zfynKftu'IS'Nh ;zfynKxNkU. 
 
(10a + b) – (10b + a) 
= 10a + b – 10b – a 

= 9a – 9b = 9(a – b). 

 
nzso 9 BkbGki:'r j?, ns/ pkehpokpo j? 0  
 

10 min. Reversing the digits – three digit number. 
 
fszBnzeK dh ;zfynKns/ fJ; dk T[bNeqwbU ns/ 
tZvh ;zfynKftu'IS'Nh ;zfynKxNkU. 
 
 
nzso 99BkbGki:'r j't/rk. 

Example 1 

fszBnzeK dh ;zfynK 349 ns/ fJ; dk T[bNeqw 943 bU ns/ 
tZvh ;zfynKftu'IS'Nh ;zfynKxNkU. 
 

943 – 349 = 594; 

nzso 99BkbGki:'r j?, ns/ pkeh= 0 

fJjfet/I j'fJnk 

fszBnzeK dh ;zfynKabc= 100a + 10b + c. 

ns/ fJ; dk T[bNeqwcba= 100c + 10b + a.  

bU ns/ 
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tZvh ;zfynKftu'IS'Nh ;zfynKxNkT[D s/. 
 
i/eo a>cs'IsKnzso  (100a + 10b + c) – (100c + 10b + a) 

 = 100a + 10b + c – 100c – 10b – a 

= 99a – 99c = 99(a – c). 

 

i/eo a>cs'IsKnzso 

 (100c + 10b + a) – (100a + 10b + c) = 99c – 99a = 99(c – a). 

ns/ i/eoa= c, sKnzso= 0. 

jo/e tko T[so 99 BkbGki:'r j? ns/ pkeh= 0 

5 min. Forming three-digit numbers with given three-digits. 

Think of any 3-digit number. 

Now use this number to form two more 3-digit numbers, like this: if the 

number you chose is abc, then 

The first number is cab (i.e., with the ones digit shifted to the “left end” of 

the number); 

The other number is bca(i.e., with the hundreds digit shifted to the “right 

end” of the number). 

Now add them up. Divide the resulting number by 37. 

You will get no remainder. 

Example  

2  3  7 

7  2  3 

3  7  2 

1 3  3  2 

Then  divided the resulting number by 1332 by 37: 

      1332 ÷ 37 = 36, with no remainder. 

 

E.1 Period 2 

 

5 min. Introduction to rules  

Letters for Digits 
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Here we have puzzles in which letters take the place of digits in an 

arithmetic ‘sum’, and 

the problem is to find out which letter represents which digit; so it is like 

cracking a code. 

 

Here are two rules we follow while doing such puzzles. 

1. Each letter in the puzzle must stand for just one digit. Each digit 

must be represented by just one letter. 

2. The first digit of a number cannot be zero. Thus, we write the 

number “sixty three” as 63, and not as 063, or 0063. 

A rule that we would like to follow is that the puzzle must have just 

one answer. 

15 min. Example  1  Find the value of Q 

    3    1    Q 

   + 1    Q    3  

    5    0     1 

Q   +   3  =     1  

For Ist Column This is possible   Q  = 8   8   +   3    =    11 

For 2nd  Column     1  +  8  =  9  and   1 carried from first Column  

gives us  10  

For 3rd Column      3   +  1  =  4  and  1 carried from  second Column 

gives us 5  

    3    1    8 

   + 1    8    3  

    5    0     1 

Thus Q = 8 

Example 2: Find A and B in the addition. 

    A 

A   

   + A 
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   .   B   A  

Solution:This has two letters A and B whose values are to be found. 

Study the addition in the ones column: the sum of three A’s is a number 

whose ones digit  is A. Therefore, the sum of two A’s must be a number 

whose ones digit is 0. 

This happens only for A = 0 and A = 5. 

If A = 0, then the sum is 0 + 0 + 0 = 0, which makes B = 0 too. We do not 

want this 

(as it makes A = B, and then the tens digit of BA too becomes 0),  

so we reject this possibility. So, A = 5. 

Therefore, the puzzle is solved as shown below. 

    5 

5   

   + 5 

   .   1   5 

10 min. Example 3: Find the digits A and B. 

B  A 

 × B  3 

 5   7  A 

Solution: 

This also has two letters A and B whose values are to be found. 

Since the ones digit of 3 × A is A, it must be that A = 0 or A = 5. 

Now look at B. If  B = 1, then BA × B3 would at most be equal to 19 × 19; 

that is, 

it would at most be equal to 361. But the product here is 57A, which is 

more than 500. So  we cannot have B = 1. 

If B = 3, then B A × B3 would be more than 30 × 30; that is, more than 

900. 

 But 57A is less than 600. So, B can not be equal to 3. 

Putting these two facts together, we see that B = 2 only.  

So the multiplication is either  20 × 23, or 25 × 23. 

The first possibility fails, since 20 × 23 = 460.  
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But, the  second one works out correctly, since 25 × 23 = 575. 

So the answer is A = 5, B = 2. 

Write a 2-digit number aband the number obtained by reversing its digits 

i.e., ba. Find 

their sum. Let the sum be a 3-digit number dad 

i.e., ab+ ba= dad 

(10a + b) + (10b + a) = dad 

11(a + b) = dad 

The sum a + b can not exceed 18 (Why?). 

Is dad a multiple of 11? 

Is dad less than 198? 

Write all the 3-digit numbers which are multiples of 11 upto 198. 

Find the values of a and d. 

5-10 min. Recapitulation and more discussion 

 

E.1 Period 3 

35-40 min. nfGnk; 16.1 

 

E.1 Period 4 
5 min. Divisibility by 10 

nkUn;hI 10 d/ e[M r[Dik s/ MkswkohJ/ 10, 20, 30, 40, 50, 60, ... , 

ns/ j/mK e[M T[j ;zfynktKjBi' 10 d/ r[Di BjhIjB. 

13, 27, 32, 48, 55, 69, 

Ugo'es ;zfynktKs'In;hI d/yd/ jKfe i/eofe;/ ;zfynKdkfJekJhdknze 0 j? sK T[j 10 

BkbGki:'r j? ns/ i/eo ;zfynKdkfJekJhdknze 0 BjhI j? sK T[j 10 BkbGki:'r BjhI 

j? GktT[j ;zfynK fi; dkfJekJhdknze0 j? T[j 10 BkbGki:'r j?. 

5 min. Divisibility by 5 

nkUn;hI 5 d/ e[M r[Dik s/ MkswkohJ 

5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 

Ugo'es ;zfynktKs'In;hI d/yd/ jKfefJjBK ;zfynktK d/ fJekJhdknze 0 iK 5 j? ns/ 

fJ; s'IfJbktKe'Jhj'onzeBjhI j?. 
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fJ; soQK T[j ;zfynK fi; dkfJekJhdknze0iK 5 j?? T[j 5BkbGki:'r j?. 

5 min. Divisibility by 2 

nkUn;hIfi;s ;zfynktKbJhJ/. 

2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, ... , 

ns/ j/mKNKe ;zfynktKjB. 

1, 3, 5, 7, 9, 11, 13, 15, 17, 19, 21, ... , 

n;hI d/yd/ jKfee'Jhgqkfeqse ;zfynKfi;s j? i/eo T[; dkfJekJhdknze 

2, 4, 6, 8 or 0 j't/. 

ns/e'Jhgqkfeqse ;zfynKNKe j? i/eo T[; dkfJekJhdknze 

 1, 3, 5, 7 or 9 j't/. 

fJ; soQK fi; ;zfynKdkfJekJhdknzefi;s j? Gkt  0, 2, 4, 6 or 8 j? T[j 2 

BkbGki:'r j?. 

5 min. Divisibility by 9 and 3 

nkUn;hI ;zfynK 3573 bJhJ/ 

fJ; dkft;fsqs o{g: 3 × 1000 + 5 × 100 + 7 × 10 + 3 

= 3 × (999 + 1) + 5 × (99 + 1) + 7 × (9 + 1) + 3 

= 3 × 999 + 5 × 99 + 7 × 9 + (3 + 5 + 7 + 3) ... (1) 

;zfynK 3573, 9 iK 3 BkbGki:'r j't/rh i/eo (3 + 5 + 7 + 3),9 iK 3 BkbGki:'r 

j?. 

fit/I fe 3 + 5 + 7 + 3 = 18, 9 ns/ 3 BkbGki:'r j?. fJ; bJh ;zfynK 3573, 9 ns/ 

3 BkbGki:'r j't/rh. 

nkUn;hI ;zfynK 3576 s/ ftukoeohJ/. 

fit/I fe3 + 5 + 7 + 6= 21, 3 BkbGki:'r j? ns/ 9 BkbGki:'r BjhI j?. fJ; bJh 

3576, 3BkbGki:'r j? ns/ 9 BkbGki:'r BjhI j?. 

10 min. Hence, 

(i) A number N is divisible by 9 if the sum of its digits is divisible by 9. 

Otherwise it is 

not divisible by 9. 

(ii) A number N is divisible by 3 if the sum of its digits is divisible by 3. 

Otherwise it is 
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not divisible by 3. 

 

If the number is ‘cba’, then, 100c + 10b + a = 99c + 9b  +  (a + 

b + c)=9(11c + b) + (a + b + c) 

       divisible by 3 and 9 

Hence, divisibility by 9 (or 3) is possible if a + b + c is divisible by 9 (or 

3)..Check the divisibility of 21436587 by 9. 

The sum of the digits of 21436587 is 2 + 1 + 4 + 3 + 6 + 5 + 8 + 7 = 36. 

This number is divisible by 9 (for 36 ÷ 9 = 4). We conclude that 

21436587 is divisible by 9. 

This number is divisible by 3 (for 36 ÷ 3 = 12). We conclude that 

21436587 is divisible by 3 

Check the divisibility of 152875 by 9. 

The sum of the digits of 152875 is 1 + 5 + 2 + 8 + 7 + 5 = 28.  

This number is not divisible by 9. We conclude that 152875 is not 

divisible by 9. 

If the three digit number 24x is divisible by 9, what is the value of x? 

Since 24x is divisible by 9,  

sum of it’s digits, i.e., 2 + 4 + x should be divisible by 9, 

 i.e., 6 + x should be divisible by 9. 

This is possible when 6 + x = 9 or 18, .... 

But, since x is a digit, therefore, 6 + x = 9, i.e., x = 3. 

Check the divisibility of 2146587 by 3. 

The sum of the digits of 2146587 is 2 + 1 + 4 + 6 + 5 + 8 + 7 = 33. This 

number is divisible by 3 (for 33  3 = 11).  

Hence  2146587 is divisible by 3. 

5-10 min. Recapitulation  

 

E.1 Period 5 

40 min. nfGnk; 16.2 

 

 

Subsection F. Relevant youtube reference 

 

Video for divisibility rule 
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https://www.youtube.com/watch?v=KBgNY7LqU2M 

 

Section G.  Listing of  Possible Activities 
    
ekovK dh ;jkfJsKBkb ns/ ftfdnkoEhnK d/ ;w{j pDk e/ y/v fefonktKokjhI ns/ j'onfXnkge dh ekovK dh ;jkfJsKBkb ns/ ftfdnkoEhnK d/ ;w{j pDk e/ y/v fefonktKokjhI ns/ j'onfXnkge dh ekovK dh ;jkfJsKBkb ns/ ftfdnkoEhnK d/ ;w{j pDk e/ y/v fefonktKokjhI ns/ j'onfXnkge dh ekovK dh ;jkfJsKBkb ns/ ftfdnkoEhnK d/ ;w{j pDk e/ y/v fefonktKokjhI ns/ j'onfXnkge dh 
w"fbesknB[;kofefonktKeotkJhnKikDrhnK.w"fbesknB[;kofefonktKeotkJhnKikDrhnK.w"fbesknB[;kofefonktKeotkJhnKikDrhnK.w"fbesknB[;kofefonktKeotkJhnKikDrhnK.    
 

 

Section H. Model assessment tools for the students 
Assessment for the students 

 
j/m fbfynK ;zfynKtK d' nzeKdhnKjB.fdykT[ fe d' nzeKdhnK ;zfynK ns/ fJ;d/ T[bNeqwdk I'V 11 
BkbGki :'r j?. 

 
a) 23 
b) 45 
c) 56 
d) 47 
e) 67 
f) 45 
g) 34 
h) 38 
i) 96 
j) 57 
k) 53 
 
 
j/m fbfynK ;zfynKtK d' nzeKdhnKjB.fdykT[ fe d' nzeKdhnK ;zfynK ns/ fJ;d/ T[bNeqwdkxNkT[ 9 
BkbGki :'r j?. 

 
a) 23 
b) 45 
c) 56 
d) 47 
e) 67 
f) 45 
g) 34 
h) 38 
i) 96 
j) 57 
k) 53 
 
 
j/m fbfynK ;zfynKtKfszBnzeKdhnKjB.fdykT[ fefszBnzeKdhnK ;zfynK ns/ fJ;d/ T[bNeqwdkxNkT[ 99 
BkbGki :'r j?. 

 
a) 234 
b) 456 
c) 563 
d) 479 
e) 675 
f) 458 
g) 346 
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h) 386 
i) 964 
j) 573 
k) 539 
 
 
j/m fbfynK ;zfynKtKfszBnzeKdhnKjB.fdykT[ fei/eofszBnzeKdhnK ;zfynKabc ,bca, cba d/ o{g 
ftZuj'DsKfJjBKdk I'V 37 BkbGki :'r j?. 

 
 
a) 234 
b) 456 
c) 563 
d) 479 
e) 675 
f) 458 
g) 346 
h) 386 
i) 964 
j) 573 
k) 539 
 
j/mfbfynK dh  2,3,5,9,10BkbGki :'rskiKueo'. 

 
a) 34546 

b) 34547 

c) 34548 

d) 34549 

e) 34550 

f) 34551 

g) 34552 

h) 34553 

i) 34554 

j) 34555 

k) 34556 

l) 34557 

m) 34558 

 

Section I. Model assessment tools for the teachers 

a) eh 4,6,7,8,11,13 dh Gki :'rskiKuBdhj'oe'JhftXh j?< 

b) Gki :'rsk dh iKudkrfDsftZu eh wjZst j?< 

c) rfDsftZushortcut Method dk eh wjZst j?< 

d) fJZenfXnkgerfDs B{z o'uepDkT{B bJhftfdnkoEhnKdhwZddfe; soQKeo ;eZdk j?< 

e) gjkfVnKdkrfDsefefonktKftZu eh wjZst j?< 

f) ftfdnkoEhnK B{z rfDsf;ykT[Ddk eh wjZst j?< 

 


